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(1) x2+6x+9 (2) a*—14a+49 (3) a%+8ab+16b2
4) 25¢%2—20xy+4y2 (5) 3x2—12xy+12y2 (6) 9a2—1652
(7) 100x2— 49 y2 (8) 50x2—18y2 9) 12a2b2-27

KD 1 RNERZRET

1) x+9=3 (2) 8x—7<9 (3) —5x+3>18
4) 7Tx—4=4x+38 6) 3x+6<5x—2 6) 9x—16<2x+19
(7) 2—3x<4x+5 8 4x+5>8x—9 9 3x—19<6x—11

KD 2WAEFH TR L,
1) #2—2x (2) 2%+ 4x+6 (3) x2—8x+11
4) 2243« 5) x2—=x+2 6) x2—5x—2

KD 2 WHIERZRET
1) (52+3(x—2)=0 2) 22=7x=0 3) x2—9x+8=0
4 4x2-25=0 (5) 6x2—7x—3=0 (6) 5x2—14x—3=0
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(1) 22+52+7=0 (2) 9x2—12x+4=0 (3 3x2-T7x+2=0

) 2x7—3r—8=0 ) %x2+2x+9=0 6) 52°—3Tx+1=0
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(1) x*—3x—18>0 (2) x2—64<0
(3) x2—2x—24<0 (4) x2—13x+40=0
(5) x24+7x<0 6) x24+5x—36>0
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1) sin0=—1— 2) cosb’=—£ (3) tanf=./3
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[1]®8 1) (x+3* (@ (a=7° () (a+4b)* (4 (5x—2y)°
(5) 3(x—2y)° 6) (3a+4b)3a—4b) (7) (10x+7y)(10x—7y)
8) 2(5x+3y)5x—3y) 9) 3(2ab+ 3)(2ab—3)
ﬁa% (1) x=-6 (2) x<2 @) x<-=3 (4 x=4 (5) x>4
6 x<5 1) 12-o @ <y @ xz—y
[3]@® (1) x—12*—1 (2 (x+22+2 3) (x—4?=5 () <x+—2—>2—%
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6 r=—3, 5 6 r=—%. 3
1 ofa (@2 1@ (3 2@ 4 2/ (6 118 (6 0
@ﬁ@%ﬁ 1) x< =3, 6<x (2) —8<x<8 (3) —4=<x<6 4) x<5, 85«

5) —7<x<0 (6) x=-9, 4=<x
®E (1) 60=45°, 135° (2) 6=150° (3) O=60°
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(1) COS&_T’ tanﬁ—ﬁ E s COS&———4—, tanﬁ_—ﬁ

@) sin0=§, tanf=—v3 (3 sin0=\/3£_0, cosﬁ=—%

@) sind =¥, tand =26

2 +3x24+3x+1 2) x*—6x24+12x—8  (3) 27a’+27a%b+9ab+b°
8 x3-36x%y+54xy2—27y°

(x4 2)(x%2—2x+4) 2) (x—4)(x%+4x+16)
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